
ANSWERWITHEXPLANATION [SET–19]

1.(d)

2.(a)

3.(c)
13×3+11–26×6÷13+19=57

4.(d)
4–1=3 5–1=4 2–1=1
7–1=6 9–1=8 1–1=0
2–1=1 1–1=0 3–1=2

5.(c)

6.(b)

7.(b)

8.(d)

9.(c)

10.(b)

11.(c)

12.(d)

13.(a)
Wegetinterestfrom capital.

14.(c)
Allthethreenumbersareoddnumbers.

15.(d)
Currencyisdifferentfrom others

16.(c)

17.(c)

18.(b)

19.(c)

20.(a)
Shan(55)>Sathian(50)>Balan(44)>Devan(37),
55–37=18years.

21.(d)
Antonyms

22.(b)
+2,+3pattern

24.(b)
2+5=7similarly,8+1=9

25.(d)
Momentum,thereisno‘u’inenvironment.

26.(b)
ExceptRabbit,allotheranimalshavehorn.

27.(c)
ExceptHFE(optionc),–1patternseriesinallothers.

28.(a)
From 1st diceand4thdice,Weseethattwoletters(X&Y)
arecommon.So,ZisoppositetoC.

29.(b)
Differenceis+2,+4,+8
Hence,nextterm isH+8=P

30.(c)



(31-36):

31.(d) 32.(d) 33.(b) 34.(c) 35.(b) 36.(a)

37.(e)
TakingboththestatementswecansaythatNistheniece
ofP.

38.(d)
Togetherarenotsufficienttogettheanswer.

39.(e)
TakingboththestatementswecansaythatPhastwo
sons.

40.(b)
From dataIIEasilysaythatTisthetallest.

[Ifanyqueryaboutthesequestionspleasecontact8167092555from 10am to6pm]


